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In which one of the following place earthquake
recording station is not located ?

(A) Kolkatta (B) Kodaikenal
(C) Pune (D) Mumbai
Following is not a part of Ruman sperm

(A) Acrosome (B) Mitochondria

(C) Axial filament (D) Antrum

Haryana recently celebrated its _ v
foundation day.
(A) 42"

(C) 53"

(B) 50"
(D) 55"

A number consists of three digits whose
sum is 17. The middle one exceeds the
sum of the other two by 1. If the digits be
reversed, the number is diminished by 396,
then the number is
(A) 494

(C) 681

(B) 593
(D) 692

____ isthesmallestand the fastest
memory in computer.
(A) RAM

(C) Cache

(B) ROM
(D) Hard drive

____________is the first Indian wrestler to
win two medals at the World Wrestling
Championships.

(A) Vinay Phogat
(C) Bajrang Punia

(B) Sakshi Mallik
(D) Sushil Kumar

: b o : 45
Find the missing terms : < 9s JATd | S \oo‘b/
b_b_bb_b_bbabb_ o bi/bpogph 0 o™

(A) aaabb (B) abaaa —~A) aaabb (B) abaaa

(C) ababb (D) bbabb (C) ababb (D) yobabb

Order ofthe differential equation representing 0 T y2 = 4ax IR ohl SHaTe Sfeeheld

the family of parabolas y? = 4ax is /Hﬂw A 7

(A) 2 (B) Not defined (A) 2 ~B) Tutia =g

(C) 3 (D) 1 (C) 8 (D) 1

wﬁlﬁg net{gnrgga ?; tige last element of an array (\@/ z;;—qﬁ;qé@ IR Bﬁqﬂﬁﬁlﬁﬁiﬁ

(A) 9 (B) 10 (A) 9 (BT 10
(C) 8 < (D) 0 (C) 8 (D) 0

-2- b_’b/_,bb),b«/bbalbb,_
B b
B e

et ) 42
i (C) 5371
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HAHET o
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(D) 554
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(C) 681 (D) ooz ¥ X\
3 et & g Bl A eﬂa?m,\/
7 AR B

(A) RAM (8) ROM
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10.

11.

12,

13.

14.

15.

India’s first Bullet train will run between
(A) Gandhinagar to Mumbai

(B) Ahmedabad to Mumbai

(C) Delhi to Mumbai

(D) Surat to Mumbai

Anil introduce Rohit as the “son of the only
brother of his father's wife”. How is Rohit
related to Anil ?

(A) Cousin
(C) Uncle

(B) Son
(D) Brother

Which of the following decides the eastern
boundary of Haryana by separating it from
Uttar Pradesh ?

(A) Ganga (B) Yamuna

(C) Ghaggar Hakra (D) Chandigarh

This district of Haryana is having least
amount of forest in terms of area

(A) Rewari (B) Fatehabad
(C) Gurugram (D) Jind

Overloaded functions are

(A) Long functions which cannot run

(B) One function containing another
function in it

(C) Two or more functions with same
name, type and arguments

(D) Two or more functions with same name
but different number of parameters or
type

Arrange the following with their base :

1. National Institute of a. Gurugram
Solar Energy
2. Raja Ramanna Centre b. Indore
- for advance technology
* 3. National Dairy c. Karnal
Research Institute
4. National Bureau of d. New Delhi
Plant Genetic
Resources
Select the correct options given below :
(A) 1-a 2-c 3-b 4-d
B) 1-a 2-b 3-c 4-d
(C) 1-a 2-d 3-b 4-c
(D) None of the above
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(A) T ~(B) AT
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SUREISIASEINS
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' 16. A capacitor filled with a dielectric
of permitivity €, = 2.1 loses half the
charge acquired during a time interval
t=3 minutes. Assumingthechargetoleakonly
through the dielectric material, the resistivity
is (charge decay takes place according to
q = g,6™"¢ and half time T, = 0.693 RC)

(A) 1.39x 10" Qm (B) 2.5 x 10" Om
(C) 1.39x 1079 0m (D) 2.5 x 10-*.Om

was a major rebellion against
Aurangzeb, the Mughal Emperor, occurred
in Narnaul and surrounding localities in the
year 1672, which was led by Sadh people.
(A) Sikh revolt (B) Sepoy mutiny

(C) Satnami revolt (D) None of the above

is the world's oldest still-functional
1855 - built steam locomotive.

(A) Kalka Shimla train
(B) Fairy Queen

(C) Palace of wheels
(D) None of these

17.

18.

19. The Jejaka bhukti was the ancient name of
(A) Allahabad (B) Saurastra
(C) Bundelkhand (D) Kanpur
The forces acting on a drop of a liquid
placed on a horizontal surface is
{ (A) Force due to surface tension

(B) Force due to gravity

(C) Both (A) and (B)

(D) Force due to viscous

20.

21. Three married couples are to be seated in
a row having six seats in a Cinema Hall.
Find the number of ways of their seating if

all the ladies sit together.
(A) 36 (B) 72
(C) 144 (D) None of these

The process of bringing a wild species under
human management is referred to as

(A) Acclimatisation

(B) Introduction

(C) Domestication

(D) None of these

22,

OO O A

forgasfierdr €, = 2.1 % % URfas A T
T YU 2 3T g9 e « = 3 &
2N TfRd ST 1A 98 @l a8 | 98 Wi
T3 oA Sharet qrEfae gerd § e @1
, yferrererar 8
(37791 BT q = q,e/A° o FAR Bt & 3R
af |9y T, = 0.693 RC )
(A) 1.39x 10 Qm (BY 2.5 x 10 Qm

(C) 1.89x 10-°Qm (D) 2.5x 10 Qm
T 1672 # AR 39K 2T -uTH % &
F et ATeTe Sl ¥ fawg ged e
fraert e @re s gy R 2|
for fage By fel e
o fage (D) IF HH RS A8
forva =1 wT=fimay 214t off =Imeg 1855
1 a1 99 357 B
(A) @TeTeR! fimen 24
(B) el
U AT Eed
(D) ¥ & 1S A2
EEIERIE A1 gL A 4T |
(A) IEITETETE (B)
(R CicE (D) FAER
U &fqs gUae W Wl 79 Al 55 W
AT 9 &

«A) Y3 TG o HRVT o
(B) T¥ed % R FA

(C) (A)=R (B) 3l
(D) ¥IH % HEU
= _fa=nfeq gt #t v fimm = o
6 Il W Uk Ui § Samr 21 93y ¥ afEt

16.

17,

18.

19.

20.

y

ol TEAT 91 L FfE el wAigeratt =1 s ary

AR | ,g/;

(A) 36 (B) 72.

(C) 144 (D) 319 T IS 7=
22. UK S IS T A e o Savta @

EARIER FEaTdl 2

(A)

(B) :%‘j

—C) Ble] ST
(D) ¥TH ¥ IS e
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- 23. The highway research board was set up In

A
the

year
(A} 1973 (B) 1953
(C) 1963 (D) 1847
24, CPU of smallest single user computer Is

(A) Micro-processor
(B8) Mini-processor
(C) Nano-processor
(D) Personal processor

Recently P.M. Narendra Modi inaugurated
Inﬂdia‘s longest bridge in Assam, it's named
after

(A) Mohammad Rafi
(B) Manna Dey

(C) Kishore Kumar
(D) Bhupen Hazarika
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23, W smEyR AEAd ____ H @ |
(A) 1973 4By~ 1953
(C) 1963 (D) 1847
24, Tud U1 T s e wdt
(A) HTERISTEEC
_ABY
(C) *A-saeT
(D) st wrEEr

25. w1 £ 3 Atz A 3 oy # WTE F e
qE 1 IgETEA [ | FEe AR
% =9 T AT T |
(A) HiEwRE Th
w1 2
(C) Foremt FHR
(D) MU ETEHT

et 1 9% e g S ad ey w8

26. Choose the pair of words that shows
the same relationship as given pair ;
Scalp : Hair. it 2 it T A
(A) Home : Cattle / (A) 5L : T
(B) Nail : Nailpolish (B) AT ; AT
(C) Grass: Earth (C) ¥ : BLGil y
(D) Fur:Cap (D) WX : Tl Pe
1 1 1 . 1 - ;'
27. It A=—=— then A'+—= 97. ufz A= _ @ AT —= 1745
ey R e
(A) 4430 (B) 22 (A) 4430 O e
(C) 11 (D) None of these (C) 11 (D) T & =g AE
28. Which one of the following is not correctly | 2g  f=iffiaa § & #i9-a1 @¥l FHfer ?
matched 7 (A) wﬂ-mﬁﬁﬂq aarqgm il
(A) Goat - Kidding 2
(B) Horse - Foaling (B) g~ ST
(C) Sheep - Lambing (C) WE-HW T S
(D) Buffalo - Farrowing AD) -y
29. Famous fort of Mahendragarh was so | 20, ¥¥ze % Wit fihel #1798 1861 #
namedby ______in 1861. & 99 gL T@1 |
(A) Maharaja Narendra Singh (A) WERmE iz fiw
(B) Maharaja Maneedra Singh 4B) wewEn A fae
(C) Maharaja Ranjith Singh (C) wewen i féw
(D) . None of the above (D) % & S T

(&
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31.

32.

33.

34.

35.

A

72 B, X W
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Consider the view of authors about Indus
valley civilization and choose which one of
the following is not correctly matched ?
(A) Gorden Childe — The People of the
Indus valley belonged
to Sumerian race
(B) R.D.Banerjee — The people of
Indus valley were
Dravidians
- The Indus people
belonged to mixed
race
~ The Indus people
belonged to
Mangolian race

(C) Dr. Guha

(D) John Marshal

One of the new age transport systems
called Pod Taxi is proposed in India, it's a

(A) Cab pooling system by using drones

(B) It's a Personal Rapid Transit
system (PRT)
(C)

Driverless maglev train
(D) Helicopter service for essential services

Complete the analogue.
TUESDAY : UUFSCAX : : SQUAREE : ?

(A) TQVASED (B) TQUASED
(C) TQVAQED (D) TQVARED

The value of cos1° cos 2° cos 3°....cos 179° is
(A) (B) 1

V2

(C) 0 O) -1

Which one of the following is not a feature
of Marxist perspective on state ?
(A) State is an instrument of exploitation

(B) State is temporary
(C) Classes never abolished

(D) State is Universal

Amrita Pritam was honoured by Bharatiya
Jnanpith award for her literary work

(A) Rasidi Ticket
(B) Pinjar

(C) Sunehade

(D) Kagaz Te Kanvas

o EGENe T P 0T
R -a

VARVESET R

30.

31.

32.

33.

34.

35.
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qHEYT Ui i |
TUESDAY : UUFSGAX : : SQUAREE : ?

A) TQVASED (B) TQUASED
(C) -TQVAQED (D) TQVARED

cos1° cos 2° cos 3°....cos 179° =l HIH %
(A) w(8): 1
(DS =1

V2

(€ o

fFafafaa 3 @ F9-91 v 159 1w aard]
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40.

41.

42,

Rana Nimantrana, Guru Gobind Singh and
Yuddha Charita are the works of famous
Haryanvi poet

(A) Uday Bhanu Hans

(B) Khushiram Sharma

(C) Ayodhya Prasad Goyaliya

(D) Tulsiram Sharma Dinesh

Select the word which is least like other
words in the group.

(A) Lake
(C) Wind

(B) River
(D) Current

Converse of the statement 'lf x :y=3:2
then 2x = 3y’ is

(A) Ifx:y#3:2then 2x 3y

(B) f2x=3ythenx:y=3:2

(C) lf2x=3ythenx:y#3:2

(D) None of these

Which Section deals with dowry death ?
(A) 498-Aof IPC  (B) 489-AofIPC
(C) 304-BofIPC (D) 304-AofIPC

Set of parallel printed lines with different
thickness of black and white characters is

(A) White code (B) Magnetic code
(C) Color code (D) Bar code

is an artwork made from cow dung

and clay.
(A) Sanjhi (B) Mehandi
(C) Rangoli (D) All the above

Any organism with more than two genomes
is called as
(A) Monoploids
(C) Diploid

(B) Polyploid
(D) Haploid

Complete the series starting with the given
number, following the sequence of original

series. What will come in the place of (iil) ?
127718 .50/ 490 412
18 (i) (i) (i) (iv)
(A) 135 (B) 115
(C) 180 (D) 72
=T
.

36.

a7.

38.

39,

T
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o fas, 1 it féve o g s Ffaat
TRt En AR

~(A) 39 W FE

8) e
(C) FdeaT S8 THATeTl

(D) et i A
7% v A A TR § = e | g

fim e
(A) e
(©) T

FYA F1 Ioe1 ; Afe
2x =3y ® g
(A) A x:y=3:2d12x#3y

4B) m%Zx:SyﬁTx;yza:E

(C) AR 2x=3ydix:y»3:2

(D) ¥ | FIS T

225 T @ FA-H ar getd 8 7

(A) IPC#1498-A (B) IPC &1 489-A
(C) IPC #1304-B (D) IPC %1 304-A

1T A W Tl & Al 79 % 919 o

§7J=3:2?ﬁ

40.

gqmm%maﬁwm% .

(A) HHE FIE (B8) FHFIIHIE

(C) TR H1E Oy TAHS
41, e 3iv gt @ w e R

(&) e (B) #ed

(C) T (D) JF &l
42. 2 Sy @ e T E

e &

(A) I +B) alE:ﬂaf?'

() fagfora (D) ST

fiu g 3i% @ ¥& FHATE @
#ifsm) @_ﬁ T S HIAT) (i)
7 T 9T T T '

124 Sfateaan 412

18 () (i) (iv)

(A) 135 .m) 115

(C) 180 (D) 72
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49.

- (A) 120°

an the minute hand of a
1ho hour hand when the time
103 1&m
(B) 125°

(©) 115° (D) 95°

In CPU, _ points to the next
Instruction to be exacuted.
(A) Instruction register
(B) Program counter

(C) Memory buffer register
(D) Accumulator

Who is the current director of Haryana
Punjabl Sahitya Academy ?

(A) Gurvinder Singh
(B) Rakesh Sinha

(C) Narinder Singh Virk
(D) Ashwani Kumar

In the series of letter a definite rule is
followed. Determine the next two letters.
AJKTUBILSVCHMRWDGNQXEFO?7?
(A) YZ (B) PY

(C) ZA (D) PZ

The probability of getting an even prime
when a die Is rolled is

(A) (B)

(©) (D)

D= olN

Recently, Chief Minister of Haryana has
approved signing of agreement for

would add new storage capacities on two
tributaries of river Yamuna.

(A) Indira Gandhi dam

(B) Bakhra dam

(C) Kishau and Renuka dam
(D) Anangpur dam

‘65 (TR

44, 10: 1073 v vt ¥ e ) s A
FaAaTR?

AA) 120° (B) 125°
(C) 115° (D) 95°
45, digH, 37 e e SaTe
Frdar &1 w21 g B R
~a) T oeht
(B) STOTH HI3ET
(C) TmH T T
{D) TFHTEEL
46. EREN YTl WA AHTEH F FAATH
e ame?
(A) f[tﬁ?{ﬁﬁ
(B) Tk f&me
() Aftex fie ah
(D) TEHT FAR
@ e i saen 4w Hva
e BT & 20TE 31 & I |
AJKTUBILSYCHMRWDGNQXEEOQ??
Y (A} YZ (B8) PY
(D) PZ
48, UF U I e YT U AT HH W& T
. 1
(A) P (B) 3
1 4
- ) e
__[CJ 6 (D) 5
49. w € A, gf@mn F g 3 *
o =han % swaar =1 sgerEA R @ A

T4 1 A wEEE ARG 6 T HInw s
2|

(A) EfEm i aty

48) Wl Ay
(C) Fram3 i =g

(D) AT Wiy
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50. The states which have highest Density of

51.

52.

53.

54.

55.

56.

57.

Population according to 2011 census are
(A) Kerala and Uttar Pradesh

(B) Bihar and West Bengal

(C) Bihar and Delhi

(D) Bihar and Uttar Pradesh

Se)lect the significance of meiosis.
A

It helps in growth of multicellular
organisms

(B) It helps in cell repair
(C) It maintains the same number of

chromosomes in daughter cells as of
parent cell

(D) It creates variation

is a structure builtin Chandigarh
by legendary architect, Le Corbusier.

(A) Close hand monument

(B) Open hand monument

(C) Right hand monument

(D) Left hand monument

Before Independence, The high court of
Haryana and Punjab was situated at

(A) Amritsar (B) Rawalpindi
(C) Peshawar (D) Lahore

Who was the first speaker of the Lok Sabha ?
(A) Neelam Sanjiva Reddy

(B) M. A. Ayyangar

(C) Ganesh Vasudev Mavalankar

(D) Sardar Hukam Singh

Geographically Haryana contains
legislative assembly constituencies.

(A) 14 (B) 10
(C) 70 (D) 90
If A is skew symmetric then
(A) A?is symmetric

(B) A?is skew symmetric

(C) A2=0

(D) None of these

?:is called as operator.

(A) Relational (B) Conditional -
(C) Casting (D) Logical

50.

51.

952.

53.

54.

55.

56.

57.
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61.

62.

65.

Bangladesh's National Anthem is written by
(A) Bankim Chandra Chattopadhyay

(B) Rabindranath Tagore

(C) Hassan Mohani

(D) Muhammad Igbal

Which of the following does not belong
to the ‘Sapta Sindhu' or seven rivers
mentioned in Rigveda ?

(A) Ravi (B) Chenab
(C) Markanda (D) Jhelum

Breeding Centre situated in Morni,Panchkula
district is a purpose-built centre for the
breeding of

(A) Blue peafowls (B) Chinkara

(C) Pheasants (D) Indian vulture

The Federal system with strong Central
Government has been borrowed from

(A) France (B) England
(C) Canada (D) USA
Hybrid computers are used to

(A) Convert the analog signals to digital
(B) Control air traffic and radar

(C) Work on binary digits

(D) None of the above

India won ICC under 19 World Cup 2018,

the final match took between India and
(A) England (B) South Africa
(C) New Zealand (D) Australia
What is related to ‘Taka' in the same way
as ‘Lira’ is related to ‘Italy’ ?
(A) Jordan (B) Jamaica
(C) Bangladesh (D) Mexico
Kx=3%y=9z=27and x*y* z*= 1
then abc =
A) 1

:C} 1

27
Initiation of milk secretion is called
(A) Lactogenesis
(B) Galactogenesis

(C) Galactopiosis
(D) None of these

(B) 27
(D) 0
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67.

68.

69.

70.

71.

72.

73.

According to Vayu Purana, which of the

following place is believed as the birth place
of Lord Hanuman ?

(A) Karnal

(B) Hisar
(C) Kurukshetra

(D) Kaithal

Consider the following about Rousseau's

General will and choose the correct
statements.

I General will is the expression of inner
will,

u ngeral will is infalliable.
. Itis the best will of the individual.

iv. aneral will is impersonal.
(A) i, iii and iv (B) iandiionly
(C) iiandiv

(D) all the above

——_ deals with the synthesis of
pyrrole derivatives by the reaction of
p-keto-esters with q- chloroketones in the
Presence of ammonia or primary amine.
(A) Paal-Knorr synthesis

(B) Knorr pyrrole synthesis

(C) Hantzschpyrrole synthesis

(D) Madelung synthesis

LB s
X—2
(A) x22 (B) x>2
(C) —-2<x<2 (D) x>2o0orx<-2
The criteria of essentiality of nutrient

elements were given by
(A) Nicholas

(B) Arnon

(C) Parker

(D) Arnon and Stout

The “Indian Penal Code” came into force
from

(A) 6 October 1860

(B) 1 July 1882

(C) 1 September 1873

(D) None of the above

First super-computer of India is
(A) CRAY3 (B) HITAC S-300
(C) PARAM (D) ARYABHATA
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74.

75.

76.

78.

79.

80.

Most sites of the Mature Harappan
Civilisation aka Indus Valley Civilisation are
actually found along the bed of the

(A) Ganga river

(B) Yamuna river

(C) Ghaggar Hakra river
(D) Bias river

In CE configuration, if the voltage drop
across 5 kQ) resistor connected in the

collector circuit is 5 V. Find the value of |,
when 8 = 50.

(A) 0.01 mA (B) 0.25mA
(C) 0.03mA (D) 0.02 mA

is the most widely spoken dialect of
Haryanvi.

(A) Bagri (B) Bangaru
(C) Ahirvati (D) Khariboli

In an examination there are 3 multiple
choice questions and each question has 4
choices. Number of ways in which a student
can fail to get all answer correct is

(A) 11 (B) 12
(C) 27 (D) 63
Modern computer keyboard generally
contains keys.
(A) 104 (B) 53
(C) 26 (D) Allof the above

Highest magnetite ore available in India is
(A) Orissa

(B) Chhattisgarh

(C) Karnataka

(D) None of the above

Number of lone pairs of electrons present
in XeF, molecule is

(A) 5 (B) 4
(€) 6 (D) 3
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(A) 0.01 mA (B) 0.25mA
(C) 0.03mA (D) 0.02mA
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81. ____ hasbeenaccorded the honor
ofthe ‘Surya Kavi' of Haryanvi music genres
Raagni and Saang.

(A) Surdas

(B) Kurmadas

(C) Lakshmi Chand
(D) None of the above

82. Find the value of i % L + 1

ptintt e .to 10 terms.
5 -5
(A 3 B) 7
(C) -61_0 (D) None of these
83. was the last king of Tomara dynasty

who handed over the throne of Delhi to his
son-in-law Prithviraj Chauhan.

(A) Vijayapala (B) Mahipala

(C) Anangapala (D) Gopala

84. The Article of Indian Constitution which
provides for equal opportunities for all the
people in public employment
(A) 16 (B) 17
(C) 14 (D)ES

85. Who won the Runners-up title of FIFA
Football World Cup 2018 ?

(A) Russia
(B) France
(C) Croatia
(D) None of the above

86. ‘Piliya’ will be sung during occasion of

(A) Birth (B) Marriage
(C) Death (D) Holi
87. If P(n) =2% -1 is divisible by k, (k € N) for

all natural numbers n then k =
(A) 5 (B) 9

C) 7 (D) None of these
88. ‘'Sheikh chilli ka maqgbara’ is situated in

(A) Agroha (B) Sirsa

(C) Hisar (D) Thaneswar
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80.

the sentence which is grammatically wrong :

Each of the scholars has done well
Neither of them was Invited to the
party

| was the man whom they thought
was dead

Who do you think she is ?

&)

(©)
(D)

(A)
(B)

(@)
P

| swim better than him
He gave me an advice
Between you and me affairs look dark

| am as tall as she is

Select the correct option for the underlined word in
the following sentences :

They meet regularly at each other's house.
(A) indefinite pronoun

(B) demonstrative pronoun

£C) reciprocal pronoun

(D) distributive pronoun

None of his friends have came forward to
help him.

(A) Interrogative pronoun

(B) Distributive pronoun

+4C) Demonstrative pronoun

(D) Indefinite pronoun

Select compound sentence from the following :
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93. (A)
(B)
£€)
(D)

(A)
(B)

AC)
(D)

94,

When the siren sounded, all traffic
came to a stop

He is a scientist and a philosopher too
Smoking is bad for health
| told him that he would be promoted

| shall do as | like

When we went there we found that he
had gone

The annual sports will be held tomorrow
You can go by bus or by train

(A) Weg +3ITFR  (B) WIS + FN
{C) Wi +39FR (D) WAH + ITFR

100. T U<t @ R’ 36 a9 F1 FHaTg w9 &

(A) T H A @i s B

~B) T UL @1 R

(C) T T @R
(D) T A @ o
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